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section = 1 : Gep ergl English Comprehension

the P \.
Dirsction (g, Nos. 1) - R02¢ ™ "es30etuny

ANSwar the four choices given after each QUQ%«
that follows & )

Until he was ten AleX attended the n&!‘n
Allen School He was ten iransferred 1o %ﬁ;r
School which he attended with his SiSters-ﬁil;k

leamed a good deal about nature during that &e
mile downhill hike to school and the three mile ﬁﬂ-ﬂj

retumn trip. He was a quick stude nt and at twelve, the
age limit prescribed for Moor School, he was sent
to Markil Academy . Two years later he joined his
sisters Zen and Jesia at the hame of his elder brother
Tom, who was to become a successful occultist in
Paris. However, the economic success of the family
was yet fo be and Alex was forced 1o leave school
for economic reasons. When he was fifteen he
obtained a job in shipping company. Goad fortune,
however, was on his side and on the side of humanity.
In 1901, he received a share in a legacy which made
it possible for him lo refum to school. He decided
to sludy medicine.
1. ___and al twelve, the age limit

prescribed for, Moor School this in
the conlext means that children were |

(A)  not admitted to the school before
they were twelve

(B) admitted lo the school at Ihe age of
twelve
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3 Alex trekked

(C) allowed 1o teémain in the Scho°

only up 1o the age of twelve

[(B]] admi1ted fo {hE?lChl‘.'.ﬂi any time aftef
the age of twelye

2 The word 1i_EgFIC"" in the eontext me ans

A) Lottery

(B) Goodwil| money
(C) Inheritance

(D) Legal payment

miles everyday '°

attend Moor School

(A) three
(B) SiX
(C) twelve

)  unknown

4 He 'was a quick student - this means thal

Alex.
(&) reached School before his sisters
(8)  reached the school-leaving age
(C)  was alively student too soon
(D)  wasafastleamer

5 Alex become rich _
(A) by working in @ shipping Company

brothe :
(8  when his brother becamg ,
succassful occullist

(€ because he sludied medicine

(D) by recelving share in ‘“ﬂacv

(3) IB1o,

| -
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Shyam ____ _ the movie before 10, The Synonym of Ffiﬂ'ﬂdw L&

ZQQEE% £8%%

the review. () Amazing
(4] walches (8)  Energetic
i Hostile g, &
(C)  had walcheq o ;
, . Tomato is highly _—— cOMM0diyand
[P} was watching ~ weather vulnerability. ' 3
= Did he just e a ar - (A} expensive
®  cal : r ~ (B) perishable
; dear
(B called . h..,. © ;
¢ exorbitant
(C)  calling

0)  None of the above

to the programme,

(A) o invite

(®)
)
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dta ¥ wim w0 T T8 S aRE wE
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B, @ & A @ e w0 @ e
B T & b ¥ wRm #
Bt 2

16 @it o g9 @ g §

(A) B T T

Bl "' 20
€ FE

0) &L

17.  §EW & TEEe § e a6 g
A) TR

B EAE
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T gt = B
A Um

B

© "3

D) Wy

9 8 A = R
(Al EERY

G

© &

0 &

‘W’ F faeg =
n I

B e

© sB=

)

(B) SEAIR

© gy

0 FHERd
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(A) 3

® 2

© 5

o 4
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Section - qyf : Logical & Analytical ;

ing / T - 11 : ol
Directions (Q. HD!,31-32'1:Chm'm5ﬂM fdw (m |, 3 “E %“ ferr

letters which is different from others of thy R R
1“““'““‘: ﬂ . % q m -h ﬁ'ﬂ
N A
Ao W oF % M. (W OF
B KM B KM
®) ot
) PN (4] C PN
N o W
o W |
. CoE w2 W onE
2. (A N :
B) LNO | g 8) LNO
0) HU m' {0y HW

33 Find outthe missing item from the followings  33. B & 99w @ oo e

Bl B

1516 (4 | V156 [l
; 0 e 61817
2 1 26 7
= 1
o JATERED
0
W 8 o 7
o Y e K
c 1 _ L e v
' o "
o _ 8
: E 00 % T S
34 If you wiite down all the numbers from 110 34 ﬁm;%‘am4mm?
100, then how many limes do you write 47 - o, A .
w 19 | W 19
@ 18
(C) 20
o 2
Ed.-B/60000 [PT.0)
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€

e
(@)
R fasr AT T
It 25th February, 2008 was a Monday, N3, gt 25 i, 2008 1T e i
what was the day of 15th March, 20087 ??1__ a 15 AT, 2008 i R .
{A) Tuesday (A) HIFAI
(B) Em.l.”'ﬂ ay M ‘.E:I' :’W
i w
C) Sunday w (C) U GEIL
D) Monday G) ) A
15,  Read the given pattern carefully and 1% 6. Ry T AE il mmﬁ?ﬁ qiee 5
which number will come in place of question e 5 e (7) % T -
mark{f) 3 I
i N
i g | 2 %) | + |- 8 | 2 —[
2] S%sked 8‘% L2 A 3_*{
o s (L (R ] e ] L
el ] A {sl6l7]
(A) i (&) 1
B) 2 N B 2
0 E‘i‘; B 4
o 6 (@) O 6
7. 1i641=3,633=5, and425=?_ﬂ1en2ﬁ=%37. 7% 841 =3, 633 =5, 3T 425=7 #, a
6
(B) T {‘: .
Lo o 8
o 9 o 9
8. Select the related number from the given 38, BY m P o A i den ®
altematives : g
12:30 ::20.: 7 12:30 ::20:7
A) 48 Ay 48
® R @ ¥
© % . B
o 4 o 4
CET-B,Ed.-B/60000 (8)
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3.

- W
h&umgiﬂssaﬁd”'ded among A, B gog -
LY
Cinsu:ha\“ﬂ*.l'mamgelﬁﬂs-?murgmﬁ s ﬁmf&ﬁﬂﬁ?c:ﬁﬁ 2
R ﬁnﬁﬂﬁaﬁmm%inﬁﬂﬁ
what  gets and B 991 5. & re iy S te PN L
what C gets. Th® ratio of their share s - s g & ﬂrﬂ
N e ¥ o el W
 2:20:12 % ¥
A o A
B) a7:47:08 g}) (A)  27:20:12
Ly @ Zmoe
@ WD (€ 25:18:10
©  Noneof the above Ol e & @
40. Select the aption figure that will mmplmNu, Eﬂﬁmm@fﬂamﬂﬁmﬂﬁﬁ i
ﬂlEﬁEME:MUBEf'U“ﬁEUFEZ % mﬂmﬁ‘{_ﬂﬁ'ﬁ:
774l [6]7] ‘ ; E‘g 7 r”;
615] [5]4 N 5[4 L,J
514l o’ 415} ~y 5] 0 Er:
7 E ] 5
(A) n L.I__.ﬁ_l % (A) 1 ﬁ. = B) ]_LJ
516 415 E‘?J 5 -] _’P"
© 4|17 ©) 6l7 N (C) 417 [0} [Er 71

682 ‘

4B ﬂmwa-ﬁuﬁﬁ' 1A-8 &
'haaiﬁmt': ‘AxB T TR
'ﬁ.aﬂwﬂ'u ot Q+R-PxN-§ &

4. 'A + B' means Austhesmtarofﬁ' w-8 41
means 'A is the father of B. AHB'meath
is the brother of . f @ + R—P xN=5, g

then how is R related to S? Rﬂisﬁnm%?
(A)  Father c% (A) foren
(B)  Brother : @ |
(C) Uncle o G |
o
D) Grandfather
547 (2T
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The formula to calculate mean (Lond

Methad) from classified dala 1S

ot
N
Y x

M==2
(B) N
Y ix
e
M = =5

) ==
o <

Wwhich of the following is a positional

average?

(A)  Mean
(8)  Median
() Mode
(D) Range

Flow' is related to ‘River in the same way
as 'Stagnant' is related fo :

()  Stream
B) © Canal
(C) Rain
0)  Pond

Ogive gives no help in the extinction of :

(A) Median
(B) Percentile
C)  Mode

0)  Percentile Rank

CET-B.Ed.-B/60000
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45.  ShoEa ITgEE T § Hers T e
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(A m‘ﬁzm &

(B) SRS

(C) ¥guid W
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47

48.

48,

If COVER = 18522153, STIND = 111452019,
PLATE =2

2 2336

{A) 52011216 im)
)
(B) 68541264 oA
€ 16121185 N
O} 56841525
fa:b=2:3b:c=4:5 thenfida:b:cs ™
" el
A 8:12:15 0
AP
(8) 15:12:8 &)
© 2:5:15 N
(0} 24 12:-A

A man said to a woman "The only son of. “dag

your brother, is the brothes of my wife,”. Ht.'mgj
's that woman related 1o the wife of that man?ﬁg

(A} Aunt %
B)  Sister 3,
(C)  Mather

D) Grandmother g":‘g

In a code language 'SURGE' IS written B{‘%ﬂ.

'GITWU'. How will 'LIGHT' be written in thaf ¥ 2

language? N

{A)  NKv

B  UIMN .
0

© VKM L

@  VJKN E"EJ
Y|
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IR COVER = 18522153, STIND =
111482019, PLATE =2

{A) 52011216

(B) 68541264

[ 16121195

Dy 56841525

qff a:b=2:3, bic=4:5 =
arb:c T HION

Ay 8:12:15
B 15:12:8

(C) 2:5:15

() 24:12:8

s A 7 i § w6, g wl
ghe 3, A8 Ol W O9E BT A on
Higwn 1 36 AR A ooh {7 e
2

W SR

{B) 84

{C} A=

O =W

P JT W ¥ SURGE' R 'GITWU

v = &1 LiGHT =y
ok 39 W ¥ Y

A NKuy
B  uimn
© vkim
O vy
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51,

W B Staﬂdi‘hr'l I
Cl
m ‘qﬁlﬁl’ﬁm .+‘|.B.ﬁml-.c
. C®w

if A gfands fof
siands for X +and Dsﬁrﬂiﬁfﬁ' 'l'th’"\\iut
4ill be the value of the give" expression? s pmad ¥+ @
s5a 2B 12 250 Wmmmw' k2
W S & A28 1 205 '
@ 0 % () 5
{C) 10 (B

P J5e 0
o 2 m © 10

D)iten

Select the opt i su
mmsﬁmn::umwwwﬁhm“ 5

(7) in the figure = 1. o9 ReEw @ oG AP, o s

i | W%m 5

(A} .72
® T

(c) 108

S

/01

then 55 +7 |

(A} 10




53.

55.

In a code language, if PLAYER' is codeg
as '119, then how will ‘'OPTIONS' be coded
in the same language?

(&) 150
(B) | 121
© 13
O 4

Select the number that can come in place

of the question mark (?) in the following
series . ;

1,1,2,3,7,22,7
A 15
B 155
© 154
0 . 156

Find out the wrong number in the given
series :

51, 27, 61, 122, 213, 340, 509

W

@B o
o 122
O 509

CET-B.Ed.-B/60000

53%? i ﬁ Qfa PLAYER' El;:j 1y I‘&

N

C‘f')ﬂ(ﬁ wifEa o o k& OPTIONS:
O\ 5t oot & 3R D2 My o

(4] 150
g
mm 2
{‘("Q){q N
g{m 144

5, g gEd & 99 B @ R

g # e (7) & e o
O\t @ -

(48]
‘-‘:%1,1,2,3,?.22,?
g‘?f&j 157
B 15
© 154
R
0
55.{;2'5!“@’1@@1*1'@3@%%:.
€51 27 61, 122, 213, 340, 508
T
ol
S
)
o0 12
o
oD e
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Section - TV : General Awga o

56 Main use of salt in diet is 10
(A)  ease the process of COOking
(€) increase the taste
(C)  produce small 2MOunt of
hydrochloric acid reduired for
digestion
) increase solubility of food particles
in water
5T Which fungus is known as 'Green Mold*?
(A)  Aspergillus
(B)  Saccharomyces
(C) Mucus
O  Penicillium
98.  MDT is used for which disease?
(A)  Tuberculosis
(B) ~ Leprosy
(C) Diphtheria
O) Polio
58 Which poliutant may lead to 'Black Foot -
Disease'?
(A) Cd
B) Hg
(C) As
0 Cu
CET-B.Ed.-B/60000
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60.  Whatis the unit of astronomical Distance? g

;3365

i 20 A TS w R
(A)  Weber W
(B)  Angsirom ® T
(C)  Light Year © s A
0  Lux o
61.  Electronegativity is the measure of 1. PgerRoeral 3 A 3
(A)  Non-metallic character (A) g by
(B)  Metallic ciaracter B s I
(C)  Basic character © W
(D)  None of the above D) ST # ¥ B
62.  The lens used in a simple microsmﬁa is: 62 T Wﬁﬁ 1 g Fak:
(A)  Concave () TG ;
B)  Convex B S
© Cyiindrica-l (C) imm
(D)  None of the above O IR H A DR ﬂﬁ
63.  The elimination of foxic nitogenous waste 63, g ¥ AU AR ST R
and excess waler in man is by : _qﬁqﬂaaqﬁhﬂa@ﬂmtz
(A)  Excretion ® I 2
(B)  Circulation - (8)  gREET &
(C)  Reproduction ) ¥ &
©  Polution oo slmml £
CET-B.Ed.-B/60000 15 ety o)
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84.  Universally accepted %0 for mauntaing 8. wardl & forg I WY H Wigw ay

IS :
(A) Grey
(B) Snow White
(C) Dark Green
(0)  Brown
65  Bolometer is used to measure -
(A) Frequency

(B) Temperature

(C) ~ Velocity
D)  Wavelength
B86. A jet engine works on the principle of
conservation of ;
(A) Mass Velocity
(B)  Angular Momentum
(€} Energy Mass
(D)  Linear Momentum
67.  Ifa lift is going up with acceleration, mﬂ
apparent weight of a body is -
) More orless han e yeign
(8)  Equal to the true weight
(C)  Less than the true weight
(D)  More than the trye weight
CET-B.Ed.-B/60000
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aN){C} 6 &7
L
as.%a’ﬁ?ﬁratmrmrrmﬁgmm
mﬂﬁT%:
NI
B) T
N[C} Euf
8{01 el
6.0 3§t R He S R W
Nl & 87
(&)  Z=E I
‘%ﬂﬂl A w53
%(CJ Tl B
g(m Yo s |
|
6. a9 Riwe @ & @ o @ 4
o N A o A
%ﬁ} T T PR
'Ev?B} AT I B quEr
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1

N
6. The liquid metal is :
e a Ll qn k:
(&) Bismuth o
(s (A} fae
B)  Magnesium N B) et
)  Mercury ©
@)  Sodium : 0 A
69.  Which of the following is not a primary 63, Fefseg # & F5-81 STaRes T1 78
colour? 4
(A)  Red (&) &
(B) Blue (g A
{C)  Green c =
D)  Yeliow o e

70. Which blood cells are called 'Soldiers' of

233682
T
3
3
3

the body? el ¥
(A) Wwec 0 zag 414 '
(B)  Platelets o B e
(©) ReC % © A,
(D) Al of the above g O 3 a9
74 If the radius of bood vessels of a person C\J'. o G afm B aksEt @
decreases, then hisfher blood pressure . T o0 @ AW €, o SEE T
will a W ﬂ"ll
(A)  Decrease 0
© (B)
(B)  Increase A
. (€)
(C)  Remain Same (o)
N (D)
(D)  Become zero
CET-B.Ed.-B/60000 o (17)
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74,

What i the scope of 0ecSK0-making? 77
() Organization

(B)  Managemen!

C) Inspection

{0)  Administrabon

Do children of inteligent PaTents always 73,
shine in study?

W) No

(8) Yes

(C) _ Dependent an God

(@)  Psychology | V. : .
Which of the following pairs of rvers was o

T

(A)  Damodar-Hooghly o
(8)  Son-Mahanadi N

-

©  NemadaTapi |

"~ ’

(D) Gudam@hna
Whose knowledge helps us immensely in 75,
understanding ourselves?
(A}  Colors
_(B)  Education
©  Sociazaton
(D) Al of the above

CET-B.Ed.-B/60000
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76

7.

78.

F
L

o
N
Which planet is surmunded by methane 76
rings?
N
#) Neptune o0
(®) Venus ’:"(.é
AP
€ Mercury o
©  Uranus : :
Granite, Gabbro and Basalt are which type 7.
of rocks? o
0
(A)  Igneous o
cr
(B) Sedimentary Y
N
(C) Metamorphic
(D)  Complex
od
Which Ocean has one-third of land surfacgy™ 79.
in the world? ()
€3
(A)  Indian Ocean )
N
(B)  Arctic Ocean | _
(C)  Pacific Ocean
o
(D)  Atlantic Ocean (5]
O
- Which Article deals with *Education fdt* 4 79,
Alr? ()
' N
(A) Article 41
(B)  Arlicle 45
(C)  Adicle 43
(D)  Arlicle 44

CET-B.Ed.-B/60000
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o
r ;;ﬁ - ,,:;:? Most ancient ;:J m Ry 1 TR ST ST
) upon 1" SERRENIIOE @)  rr Wit W W

::l North West™ . Yy © 3T o W w4

0 ot s P21 1 o @ w S
g1, Theofficia nquege of PA1YES Was % el 1 T

@)  Tami gg (y  afE

@ Poi BN B R

(@ & Smelsh . O weF

o ok - P =
g2 Thelines thatadjoin different p'““ﬁ"-_ "' HHFI g § Rt ®F B e ﬂﬁﬁ

same pressure are known s - Dbl oy

(4 lsobar
(8)  Isotherm
(C)  Contour
D) Hyhergraph |

8. In India, the National Human
Commission was established in whi
(A) 1991 o
(8) 1992
© 1983
0 194

CET-B.Ed.-B/60000
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86.

87.
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White Reyolution is associated with ; B4,
A)  White Edible Qi %‘
®)  Frit Production E‘%
(©)  Wnite Poultry and Egg ﬁ(‘\l}

©) . Mmik Production

The Local Govemment in India was initially £gb,

established by a0
A 1 .
(A)  Lord Ripon 2’!‘,’:

|

B)  Lord Curzon
()  Lord Canning

@  Lord Dalhousie

ot

'Khajuraho' lemple was built by ©

(A)  Chauhans

(8)  Chandelas N
(©) - Rajpuls
(0)  Pratiharas &0

The macro-nutrient provided by imrganic%?_
fertilization are : £
o

(A)  Carbon, Iron, Boron
(8)  Carbon, Nitrogen, Phosphorous

(©  Nitrogen, Phosphorous, Potassium o

0 mfyy e ¥
A) mamaa'a

B g e

Wt & e ST B e g
T ot :

W @ R &

B @t & E

[ & HFT a0

o o swEeh

‘gopal’ e 8 T
[ de a

B o= @l

(c) . g F

[ AfvER Er

smdEE e a0 E R
Mawaat:

A A, T, A
(B). T, T, BT
(©) TR, HEE, G

%
@)  Magnesium, Zinc, Iron E“’E O A, B e
4 i
s (21) [PTO.]




oed B Wanaging Director
was appo i r,t‘lrﬁlal"yr Fungd In

O
)
)
¢4
"I:‘:;? Irﬂ::?”"'ﬂi':Irla 794
.L;:n".l‘f' ;Tﬁll} N ol
rodrigo R&% O @ WA
, Kstallo® Goorg®™: f‘(-?) g PR sffafiat
(B
| christingé Lagarde - R <) e ‘@FTT'&‘
o " :
p  Domwia swauss 2 o  SffFE -
orime Minist€f shii Noron 8 1I-Iudi 0 8 g o wox A B PR |
% Globd Goalkeepsr Award 101 Which of e N ¥ fpq & fom T TeEIaT
tllowing movement? % T fo?
@  Saubhagya YOO 0 (W A A
(B) Nutrition Miss00 N (B} ager e
) Swachh Bharat . € &= W
D) Mission Indradhanish oy P P
gp  Whichof the following fort s k““'"‘h'Thﬁ OB e 3 & B et 1 ool el &
Goiden Fort? E"QJ W W A ST B
() Jaisalmer Fort ﬁ (A S R
@  Red For e B @ R
(C)  Mehrangarh Fort N e o wure R
D)  Aurangabad Forl . N D  mEE R
¢  The Biodiversity Act was formed in India in g i ¥ SaRfea aftfwm e ot
which year? g T T a9
(A) 2000 o (A) 2000
(B) 2001 b ® 200
(€} 2002 (C) 2002
0 2004 0) 2004

CET-B.Ed.-B/60000
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92. e {(‘};
N TEL (Tetra Ethyl Load) : ™
) is :
Pelro, thep - e WO\ qﬂalr
i ¥ TEL
:“} ﬂmnreasestraa,ﬁofm| "‘Eﬂ_ﬁ,‘ : ﬂﬁm%‘]ﬁﬁn
g it increaseslhaanh-hnnckingmumm A g G W A W )
it decreases the g.p of Peldl (o B a5 - fic] ;m 3
©) Il decreased the anti hnmkingg (© ge P W@ B4 W w7 3
faling et
9. N D g
:Enm Carbon Compound is used as fire g3 - m::l ok ::W b
Quisher? W
N BHiwmidiPmamb
AR Cs, o
O A cs,
® cHa, &
B cHo,
©  cHo N g cHal
© = co, o oo,
94. Smmhumﬂsdischargemmm M. gy B e § R
substance inlo the stratosphere : . e B
() S0, W s,
(B co, ® o0,
© NG, & mz'_.
o 0 e
95, When waler is added to anhydrous white 95 “Wﬁmﬁﬂwm
copper sulphate, the color wil change to: grv &, < W
(W
(A)  Yellow
| &
(8)  Green ; :
Blue : '
b | p W
o Red | . ¥ (PT.0.
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Section -V : T -Learning Environment in Schools

- ¥ N A s oftdn
9.  Classroom problem-80'ving ability is g sl RAEW # =g o fraw 3w

developed by using WhCh as feedback 0 T Faregor-yaret R fegar e
device? ke
W oteews 68 W
@)  Micro Teaching c‘% @ @ A
(C) Interaction Analyss (V) © o R
(0  Simulation Technique N 0 ST T
97 The supporting system of teaching is - o1 R B wEEE SO 8
(A)  Laboratory N (&) T
(B)  Library 8 B) g
)
(C)  Both (A) and (B) g © & () 3T (B)
©)  None of the above O 3Ivie A | 9§ T8

ag, Maslery learning strategy of tﬁing is G8 fiveroy & ﬁTT!IT HrE it T (‘TI'-E‘“

designed by - wtn dew) e @ Bads @ @
(A) 4.5, Buner g L
A ALE. T

AR ~N o

(C) B.S. Skinnes c) fm fa

)  B.S Bloom o © fo§. @
9. Thmmiiﬂr“m“hhg‘ﬁlﬂ 9 el & R aeeve B 2 Ref

by - R o ¥7

@ UGC i W g

® NCERT ® wAtoma

i) NCTE © wAAL

@ SCERT D  wdfawa,
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100.

©  Work Frd
0  None of the above oo & @ a8
101, Newspaperis alan____agency. 101. NHW’(—Q’:I @ ....... VBT B
()  Fomal 0 Sh=ifts
(B)  Informal s
(C)  Personal T
(D)  None of the above WY  oviw d & 8 T
102 consider school as aminiature form 102, .......... e B a9 W @Y &
of society, Py 2
] w
(A)  Idealist 8 FEsar
B  Naturalis
| of g
R - ) S
(0)  Humaniarian U
said that
103.  Who sai “Philosoph
gt “"“_Em"ﬂn 103. I e ‘o & R @ @ Te
#e: game Col 2 R wer B7
(A)  Dewey
1G]
(8  Ross ®
™
[0  Socrates . g
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104

105

106.

107.

108.

'3

£y
mmmﬂﬂ#Wmnnmggu

T L :
@ Cend S

: g ()4 @

o Nowd bR

of teaching ® - .

) Tiustabon
B)  Exposibon

()  Explanaton

o WA

7090€C7

rocedure of management of teaching- 106,

ooming s
N Oanizig
®  Pning
Y
B i e

790807

The main approach of Educational_ _107.

Menageciontls :
AN |
Pl o el
(©)  Manpower Development
B N 2
Teacher's main task is {o -

Z89EET.

-
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e ' i
108 Chicren's emoe: N
(8)  should be immediately comecity)

hyutkmﬂunhdomaal&
practice - (%)
(B) n-mdmmgm%
insight into their thinking
(C) are insignificant in the teaching-
learning process
D) reflect how careless children are
110.  The method of teaching is 10 : 10. @ dt ga o ¥
(A)  Impartinformation (A) WG W
(B)  Asked students to read books (B) o@ ¥ 7ES w9 § P w
(C)  Suggest good reference material () o wd geel & geE 3
(0) Initiste a discussion and parficipate O @ TN A B A &
init 3 IEd W A
111,  An abject in which no light rays can pass 111, o i 7w Pt A #E -
through is called : ot i w, T ¢
(A) Translucent wﬁm
© Comex O
0) Opadue ©) ﬂi«ﬁ
112.  Envionmenusl Studies curriculum may lead 112 g e qEwE de B
o holistic leaming of children if it is - hqwﬂmt,qﬁmh
W
®  wad
© Rwww
0 Iy wl
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b Novs sl R 5 3

" w-“"‘&wr G et & T 8 R
r:uﬁﬂr § W e o B A A
g Rt oy @ 0 BT W SR €
- e e 961 B S
p Do andmoivaton "5 0) g ST 3O A T

14 Classroom communican mus be L_-'3;[:.31141. w1 WRY B el
() Teacher<centric NI (A} Rres-aE
8  Studentcentric E )

()  Generalcentic :j ©  amre-dEd
D)  Textbook-centic £ 0) Ay

{18 As a teacher, select Ihe best option fo 115, O% eUGH B & 7 FaU ¥ FH
ensure your effective presence in the
classroom °
(A)  Uses of peer command
(B)  Making aggressive statement
€  Adoption of well estabiished

posture
O}  Being authoritarian
=
118 Which of the following is the longest sowce 116, WITt 1 Tfi-adh Rl A o/ gy =

of water polluion in major rivers of India? Frfofed § @ 798 921 a9 =1 &7

W Untreated sewage W EiE weow

®  Agriculture run-of ® B wEh oW saE

©  Unreguiated smal scate industies © RFriE g b

O Religious practices © i - Raw
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